



$$\int \sec^3 x dx = \sec x \tan x - \int \sec x dx + \int \sec x dx$$

$$\Rightarrow \int \sec^3 x dx = \sec x \tan x + \int \sec x dx$$

$$\int \sec x \tan x dx = \int \tan x \sec x dx$$

$$\int \tan x \sec x dx = \int (\sec^2 x - 1) \sec x dx$$

$$= \int \sec^3 x dx - \int \sec x dx$$

$$u \frac{du}{dx} = \frac{1}{\cos^2 x}$$

$$u \frac{du}{dx} = \frac{1}{\cos^2 x}$$

$$\int \sec^2 x dx = \tan x$$

$$\int \sec^3 x dx = \int \frac{1}{\cos^3 x} dx$$

$$\int \sec^3 x dx = \int \frac{1}{\cos^3 x} dx$$

$$\int \sec x dx = \ln |\sec x + \tan x|$$

$$\int \sec x dx = \int \frac{1}{\cos x} dx = \int \frac{\cos x}{\cos^2 x} dx = \int \frac{\cos x}{1 - \sin^2 x} dx$$

$$= \int \frac{du}{1 - u^2}$$

فرض کنیم که تابع زیر انتگرال مثال عبارت

باشد  $\sqrt{a^2 - x^2}$

$-a \leq x \leq a$

تغییر متغیر

$x = a \sin t$

$$\sqrt{x^2 - a^2}$$

$$\sqrt{x^2 + a^2}$$

$$\sqrt{a^2 - x^2}$$

مثال (درین مورد می بینید)  $\frac{1}{\sqrt{a^2 - x^2}}$

$$\int \frac{1}{2} (\sin(-x) + \sin(9x)) dx$$

$$= \dots$$

مثال

$$\int \sin a \cos b \, dx$$

$$\sin a \cos b = \frac{1}{2} (\sin(a+b) + \sin(a-b))$$

$$\sin a \sin b = \frac{1}{2} (\cos(a-b) - \cos(a+b))$$

$$\cos a \cos b = \frac{1}{2} (\cos(a-b) + \cos(a+b))$$

$$\int \sqrt{9-x^2} dx = \int \sqrt{9-9\sin^2 t} \times 3\cos t dt$$

$$= \int 3\cos t \times 3\cos t dt = 9 \int \cos^2 t dt = 9 \int \frac{1+\cos(2t)}{2} dt = 9 \left( \frac{1}{2}t + \frac{1}{4}\sin(2t) \right)$$

$$t = \sin^{-1}\left(\frac{x}{3}\right) + C$$

$$\int \sqrt{9-x^2} dx$$

$9-x^2 \geq 0 \quad -3 \leq x \leq 3$

$x = 3\sin t, \quad dx = 3\cos t dt$

$$\int \frac{1}{\sqrt{4-4\sin^2 t}} \times 2\cos t dt = \int \frac{2\cos t}{2\cos t} dt = \int dt = t = \sin^{-1}\left(\frac{x}{2}\right)$$

$$dx = a \cos t dt$$

$$\int \frac{1}{\sqrt{4-\frac{x^2}{2}}} dx$$

$x = 2\sin t \Rightarrow t = \sin^{-1}\left(\frac{x}{2}\right)$

$dx = 2\cos t dt$

$$\int \frac{(2 \sin t - 1) 2 \cos t dt}{2 \cos t} =$$

$$2 \sin t dt - \int dt = -2 \cos t - t + C$$

$$= -2 \cos\left(\sin^{-1}\left(\frac{x}{2}\right)\right) - \sin^{-1}\left(\frac{x}{2}\right) + C =$$

$$-2 \cos\left(\sin^{-1}\left(\frac{x+1}{2}\right)\right) - \sin^{-1}\left(\frac{x+1}{2}\right) + C$$

$$\int \frac{(u-1) du}{\sqrt{4-u^2}} \quad \frac{u}{2} = \sin t \Rightarrow t = \sin^{-1}\left(\frac{u}{2}\right)$$

$$u = 2 \sin t \quad du = 2 \cos t dt$$

$$\sqrt{4-u^2} = \sqrt{4-4\sin^2 t} = 2 \cos t$$

$$\int \frac{x du}{\sqrt{4-(x+1)^2}}$$

$$u = x+1$$

$$du = dx$$

$$9 \left( \frac{1}{2} \sin^{-1}\left(\frac{x}{3}\right) + \frac{1}{4} \sin\left(2 \sin^{-1}\left(\frac{x}{3}\right)\right) \right) + C$$

$$\int \frac{x dx}{\sqrt{3-2x-x^2}} = \frac{dx}{\sqrt{3-2x-x^2}}$$

$$\int \frac{1}{\cos t} dt = \int \sec t dt = \int (\sec t + \tan t) dt = \int \sec t dt + \int \tan t dt$$

$$\int \sec t dt = \int \frac{1}{\cos t} dt = \int \frac{1}{\sqrt{1 - \sin^2 t}} dt$$

$$\int \frac{1}{\sqrt{1 - \sin^2 t}} dt = \int \frac{1}{\sqrt{1 - u^2}} du = \arcsin u + C = \arcsin(\sin t) + C = t + C$$

$$\int \frac{1}{\sqrt{x^2 + 4}} dx = \int \frac{1}{\sqrt{4 + \tan^2 t}} \cdot 2 \sec^2 t dt = \int \frac{2 \sec^2 t}{2 \sqrt{1 + \tan^2 t}} dt = \int \frac{\sec^2 t}{\sec t} dt = \int \sec t dt = t + C = \tan^{-1} \frac{x}{2} + C$$

$$\int \frac{1}{\sqrt{x^2 + 4}} dx$$

$$x = 2 \tan t$$

$$dx = 2 \sec^2 t dt$$

$$\int \frac{1}{\sqrt{x^2 + a^2}} dx$$

$$x = a \tan t$$

$$\sqrt{x^2 + a^2} = \sqrt{a^2 \tan^2 t + a^2} = a \sqrt{1 + \tan^2 t} = a \sec t$$

$$dx = a \sec^2 t dt$$

$$\frac{\left(\frac{3}{2}\right) x^3}{3x^2} \int \tan^2 \theta \cos \theta d\theta$$

$$= \int \frac{\left(\frac{3}{2} \tan^2 \theta\right) \cos \theta}{\left(\frac{3}{2} \cos^2 \theta\right)^3} x^3 (1 + \tan^2 \theta) d\theta$$

$$= \int \frac{\left(\frac{3}{2}\right) \tan^2 \theta x^3}{\left(\frac{1}{2}\right) x^3 x^2} d\theta =$$

$$\int \frac{x^3 dx}{\sqrt{(2x)^2 + 9}}$$

$$2x = 3 \tan \theta$$

$$2dx = 3(1 + \tan^2 \theta) d\theta$$

$$\int \frac{\sqrt{x^2 + 9} dx}{(4x^2 + 9)^{\frac{3}{2}}} = \int \frac{x^3 dx}{\sqrt{(4x^2 + 9)^3}}$$

$$x = 2 \sinh t$$

حل کن

بند اول بالا را به نظر بنویس

نویس

$$\int \frac{x^2 dx}{\sqrt{4x^2+9}^3} = \int \frac{\left(\frac{u-9}{4}\right) \frac{du}{8}}{\left(\frac{u}{4}\right)^3}$$

$$\int \frac{x^3 dx}{\sqrt{4x^2+9}^3}$$

$$u = 4x^2 + 9$$

$$\frac{2}{x} = \frac{u-9}{4}$$

$$du = 8x dx$$

$$\int \sin \theta \left( \frac{1 - \cos^2 \theta}{\cos^3 \theta} \right) d\theta$$

$$\int \left( \frac{1-u^2}{u^2} \right) du = \dots$$

$$\int \tan^2 \theta \sec \theta d\theta = \int \frac{\sec^3 \theta}{\cos^2 \theta} d\theta$$

$$\int \frac{\sin \theta (\sin^2 \theta)}{\cos^3 \theta} d\theta =$$

$u = \cos \theta$



$$\sqrt{x^2 + a^2} \quad \int \frac{dx}{\sqrt{x^2 + a^2}} \quad (3)$$

$$x < -a \quad | \quad x > a$$

$$x = a \sec \theta$$

$$x = a \cosh \theta$$

$$\int \frac{\cos^2 \theta \cdot x \cdot \frac{1}{\cos \theta} d\theta}{\sin^2 \theta} = \dots$$

$$= \int \frac{1}{4 \tan^2 \theta} \cdot x \cdot \frac{2}{\cos^2 \theta} d\theta$$

$$\int \frac{1}{x^2 \sqrt{x^2 + 4}} dx \quad \frac{dx}{d\theta}$$

$$x = 2 \tan \theta$$

$$dx = 2(1 + \tan^2 \theta) = \frac{2}{\cos^2 \theta}$$

$$\left\{ \begin{array}{l} \frac{\sec^2 \theta}{\sec \theta} d\theta = \\ \sec \theta d\theta \end{array} \right\} = \int \sec \theta d\theta = \int \frac{\sec \theta \tan \theta}{\sec \theta} d\theta = \int \frac{\sqrt{3} \tan \theta}{\sqrt{3} \sec \theta} d\theta = \int \frac{\tan \theta}{\sec \theta} d\theta = \int \frac{\sin \theta}{\cos \theta} d\theta = -\ln |\cos \theta| + C$$

$$\sqrt{x^2 - 3} = \sqrt{3 \sec^2 \theta - 3} = \sqrt{3} \tan \theta$$

$$\sqrt{3} \sqrt{\sec^2 \theta - 1} = \sqrt{3} \tan \theta$$

( $\tan^2 = \sec^2 - 1$ )

$$\int \frac{\sqrt{x^2 - 3}}{x^2} dx = \int \frac{\sqrt{3} \tan \theta}{3 \sec^2 \theta} \cdot \sqrt{3} \sec \theta \tan \theta d\theta = \int \frac{\tan^2 \theta}{\sec \theta} d\theta = \int \frac{\sin^2 \theta}{\cos \theta} d\theta = \int \frac{1 - \cos^2 \theta}{\cos \theta} d\theta = \int \frac{1}{\cos \theta} d\theta - \int \cos \theta d\theta = \ln |\sec \theta + \tan \theta| - \sin \theta + C$$

$$\int \frac{1}{a^2 - x^2} dx \Rightarrow x = a \sin \theta$$

$$\int \frac{1}{a^2 + x^2} dx \Rightarrow x = a \tan \theta \quad \vee \quad x = a \sinh t$$

$$\int \frac{1}{x^2 - a^2} dx \Rightarrow x = a \sec \theta \quad \vee \quad x = a \cosh t$$

$$(\tanh)^{-1} = \frac{1 - \tanh^2}{2}$$

$$\Rightarrow \int -\tanh^2 dt = -\int (1 - \tanh^2) dt$$

$$= -\tanh t + t + C = -\tanh\left(\frac{\cosh^{-1}\left(\frac{x}{\sqrt{3}}\right)}{\sqrt{3}}\right) + \cosh^{-1}\left(\frac{x}{\sqrt{3}}\right) + C$$

$$\int \frac{\sqrt{x^2 - 3}}{x^2} dx = \int \frac{\sqrt{3 \cosh^2 t - 3}}{3 \cosh^2 t} \cdot x \sqrt{3} \sinh t dt$$

$$= \int \frac{\sinh t}{\cosh^2 t} dt = \int \tanh t dt$$

$$\int \frac{\sqrt{x^2 - 3}}{x^2} dx$$

$$x = \sqrt{3} \cosh t \Rightarrow t = \cosh^{-1}\left(\frac{x}{\sqrt{3}}\right)$$

$$dx = \sqrt{3} \sinh t dt$$